3. A ball is rolling along the x-axis according to the function
s()=16-3t2+8t-10 ()
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a) When does the ball change direction?

b) When is the ball ing right?,
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When is the ball moving left?
The bull is moving Ift/backusrd on (3#) bl VG <0

¢) When is the ball accelerating? \l(,"a
speed up -
The ballis SP“{};WJ" ’ﬁ*gu oo same 50 ?f}sl‘
slow down X b
The badl is sbwinj down m[:o,l) (39 > do;\'
b V(&) and afx) are oppesite sips E ey 76 See.
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d) Find the ball’s displacement for the first 3 seconds.
Aisﬁ.lf“ ment
for the Airst = 5('5) = S(D)
3 secondS
= E(;)’_g(s)ix(a)—lﬂ — l}(ﬂ-}@)ﬂﬁ(ﬂ)‘g
=[-21 - [©]
= 6 £+.
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e) Average velocity of the ball for the first 3 seconds pve. W“DCH?): a—=9
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= %’{m‘

= 3%/560



f) Find the instantaneous velocity of the ball at t= 5 second
)= V() = L=kt + 2
3
V (5) = (6) —[a(_’:-)_)'}‘g

Note We. can determine this is & rasonalle
VC5>"' 3 1:%cc.

( answer bfe. we know v(5) should be

o Posi’r'wc value

g) Find the acceleration of the ball att = 1 second

') = Vi) = alk) = 2£-0G
a()=20)-6
a(l) =4 e

4) A particle is moving along the(’-axis\according to the function

3(t)=t3—6tz+7t—3 () \"-/&UPM down

a) Find the particle’s displacement after 1 second? Dm = 5(")
== —(—3)

Find the particle’s displacement after 2 seconds?  y(2)-y(o)

=(~56 —(‘3)

z -3
Find the particle’s displacement after 3 seconds? 5(3> s 3 (0)
=(N-63)

b) Average velocity of the particle for the first 3 seconds
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¢) Find the instantaneous velocity of the particle at t =2

b‘@): V&)=t -t + ]

4@)=3@) - 120)+ 7
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d) Find the acceleration of the particle att=1
(ju )=V () = alk) = bt-1>
a il =mil-l
all) = =6 Msee®

€) When does the particle change direction? (No\‘t Cheek places when V&) = o)
5 ) =v &) =3¢ 124+ T
0 =3t~ 2t +7

X = —(-12) £JERP— 4051
2(3)

X 2 0.109 and 3291 secords,
f) When does the particle move up?

The particle Mmoves uf [0,0-70"0 (3z°n,oo) be V& >0
When does the particle move down?
The ?o.rﬁc\e moves  aown (0.'10‘1 i 2_"\D ble vek) <0

Vid=aley= bt -1~
0= bt-1%
bt= 1>
g) When does the particle speed up? plks

The. partide ypeedS up On @103,1)(5 e ”) be v &)a.nd at)
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When does the particle slow down?
The ?u‘hc\c is Slowmj down) on [_0,0'IO‘D (nl?’"qu c VEE) and o)
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